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Introduction
In last meeting, it’s agreed UE in IDLE or INACTIVE could send the SI request via Msg 1 or 3. Upon reception of the request, gNB could decide to broadcast the requested SI, if many UEs requested the same SI. But if only a few UEs request a certain SI, what would gNB do?  In this paper, we are going to discuss this issue and propose our solution.
[bookmark: _Ref178064866]Discussion
[bookmark: _Ref435993289]The intention of new SI framework is to reduce the size of always broadcast SI. If gNB brocast the requested SI upon each request, it’s very likely that all SIs are always broadcast in the cell. Even if only one UE requests a certain SI via Msg 1 or 3, gNB would need to broadcast the SI in a beam sweeping way, since the UE didn’t report any beam specific measurement result yet. It’s inefficient from the resource usage perspective. It’s more efficient for these UEs to enter CONNECTED to transmit the SI. Then, gNB could schedule a specific beam to serve the UE.
Observation: if only a few UEs request a certain SI via Msg 1 or 3, it’s inefficient to transmit the requested SI in broadcast way.
If only a few UEs request a certain SI, it’s more efficient to transmit the requested SI via dedicated signalling.
Upon the reception of SI request via Msg 1, majority companies prefer to have a simplified Msg 2, which may not include Timing Advance Command/UL Grant/Temporary C-RNTI, to acknowledge the UE, since the UE would not enter CONNECTED.
If gNB would like to control UE to enter CONNECTED, gNB could send normal Msg 2 which includes Timing Advance Command/UL Grant/Temporary C-RNTI. If UE receives normal Msg 2 as a response to the SI request via Msg 1, the AS would inform the NAS and NAS triggers the RRC connection procedure. gNB could transmit the requested SI via dedicated signalling and release the UE to IDLE or INACTIVE afterwards.
Similar procedure could be applied to SI request via Msg 3.
Proposal: Upon receiving the SI request via Msg 1 or 3g, gNB should be able to control the UE to enter CONNECTED to transmit the requested SI.
Conclusion
Based on the discussion in section 2 we propose the following:
Observation: if only a few UEs request a certain SI via Msg 1 or 3, it’s inefficient to transmit the requested SI in broadcast way.
Proposal: Upon receiving the SI request via Msg 1 or 3g, gNB should be able to control the UE to enter CONNECTED to transmit the requested SI.
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